
ALUBOND FACADE02.2011

FACADE CLADDING Installation

ALUBOND FACADE

- installation -



205-05-01ALUBOND FACADE A-102.2011

FACADE CLADDING Installation

movable carrir

movable carrir

movable carrir

movable carrir

movable carrir

movable carrir

movable carrir

movable carrir

movable carrir

fixed carrir

fixed carrir

fixed carrir

fixed carrir

a

l

u

b

o

n

d

 

c

a

s

s

e

t

t

e

v
e
r
t
i
c
a
l
 
3
0
0
0
 
m

m
v
e
r
t
i
c
a
l
 
3
0
0
0
 
m

m

v
e
r
t
i
k
a
l
 
3
0
0
0
 
m

m
v
e
r
t
i
c
a
l
 
3
0
0
0
 
m

m

V
e
r
t
i
c
a
l
 
 
3
0
0
0
 
m

m
v
e
r
t
i
c
a
l
 
3
0
0
0
 
m

m

a

l

u

b

o

n

d

 

c

a

s

s

e

t

t

e

1  Alubond profile

- ALU profile l=50 mm

- pvc distancer

- inox axis

1

1

1

1

1

1

1

1

1

1

1

1

1

ALU vertical clip

1

1

1

1

ALU vertical clip

ALU vertical clip



205-05-02ALUBOND FACADE A-102.2011

FACADE CLADDING Installation

Fixed carrir

1
8
0

1

3

0

Alubond holder

- ALU profile l=50 mm

- pvc distancer

- inox axis

ALU vertical profile

5
0

5
0

Screw 4.8x16

DIN 7981

Screw M5x5

DIN 914

Screw M5x5

DIN 914

Concrete anchor  10x80

(Fischer S10H80R)



205-05-03ALUBOND FACADE A-102.2011

FACADE CLADDING Installation

Movable carrir

Concrete anchor 10x80

(Fischer S10H80R)

Screw 4.8x16

DIN 7981

ALU vertical profile

Alubond holder

- ALU profile l=50 mm

- pvc distancer

- inox axis

Alubond holder

- ALU profile l=50 mm

5
0

Screw M5x5

DIN 914

5
0

5
0

pvc distancer

 inox axis

4

5

.

5



205-05-04ALUBOND FACADE A-102.2011

FACADE CLADDING Installation

2

5

.

1

1

0

.

2

6

0

4
5

2
0

2
5

4
4

1

9

.

5

2

6

.

4

4

5

1

5

7
.
5

1

0

.

2

4
5

2

5

.

1

4
8
.
2

2
0

6

0

''A''

''B''

''A''

''B''

a

l

u

b

o

n

d

 

c

a

s

s

e

t

t

e



205-05-05ALUBOND FASADA A-102.2011

FACADE CLADDING Installation

ALU vertical profile

F-00X1

ALU rivet 3.2x8

W936

Pvc distancer

PL-AU-101

Alubond

1

5



205-06-01ALUBOND FACADE A-1.102.2011

FACADE CLADDING Installation

a

l

u

b

o

n

d

 

c

a

s

s

e

t

t

e

a

l

u

b

o

n

d

 

c

a

s

s

e

t

t

e

a

l

u

b

o

n

d

 

c

a

s

s

e

t

t

e

ALU angle bracket VF-013/60

ALU angle bracket  VF-013/60

ALU angle bracket  VF-013/60

ALU angle bracket

VF-013/60

ALU angle bracket

VF-013/60

ALU angle bracket

VF-013/60

ALU angle bracket

VF-013/60

ALU angle bracket

VF-013/60

ALU angle bracket

VF-013/60

ALU angle bracket

VF-013/60

ALU angle bracket

VF-013/60

ALU angle bracket

VF-013/60

V
e

r
t
i
c
a

l
 
F

-
5

-
5

-
1

V
e

r
t
i
c
a

l
 
F

-
5

-
5

-
1

V
e

r
t
i
c
a

l
 
F

-
5

-
5

-
1

Vertical clip SP-250

vertical clip SP-250

vertical clip SP-250

1

1

1

1

1

1

1

1

1

1

1

1

1

1

1

1

1

1

1

1

1

2

2

2

2

2

2

2

2

2

2

2

2

2

2

2

2

2

2

2

2

2

3

3

3

3

3

3

3

3

3

3

3

3

4

4

4

4

4

4

4

4

4

4

4

v
e
r
t
i
c
a
l
 
3
6
0
0
 
m

m
v
e
r
t
i
c
a
l
 
3
6
0
0
 
m

m

v
e
r
t
i
c
a
l
 
3
6
0
0
 
m

m
v
e
r
t
i
c
a
l
 
3
6
0
0
 
m

m

v
e
r
t
i
c
a
l
 
3
6
0
0
 
m

m

2
5
0

2
5
0

2
5
0

1  Distancer between inox axis and

    alubond PL-AU-101

2  Inox axis O7x80

3  Concrete anchor 10x80 (S10H80R)

4  Screw M8x75 DIN931



FACADE CLADDING Installation

205-06-02ALUBOND FACADE A-1.102.2011

ALU angle bracket

VF-013/60

ALU angle bracket

VF-013/60

Concrete anchor

10x80 (S10H80R)

Concrete anchor

10x80 (S10H80R)

  Screw M8x75 DIN931

  Screw M8x75 DIN931

2
5
0

V
e

r
t
i
c
a

l
 
F

-
5

-
5

-
1

V
e

r
t
i
c
a

l
 
F

-
5

-
5

-
1

Vertical clip SP-250

safety washer F-0896x25

safety washer F-0896x25

1

5

.

6

8

.

5

8

.

5

-join two verticals-

9
0

9
0



207-06-0302.2011

FACADE  CLADDING Installation

1

0

hole O7.2

1

0

hole O7.2

8

.

5

1

5

.

6

Concrete anchor

10x80 (S10H80R)

ALU angle bracket

VF-013/60

safety washer F-0896x25

  Screw M8x75 DIN931

inox axis O7x80

D
i
s
t
a
n
c
e
r
 
b
e
t
w

e
e
n
 
i
n
o
x
 
a
x
i
s
 
a
n
d

a
l
u
b
o
n
d
 
P

L
-
A

U
-
1
0
1

V
e

r
t
i
c
a

l
 
F

-
5

-
5

-
1

9
0

ALUBOND FACADE A-1.1


